J M T R — e B A B RS RS K 4

1. L
ﬂ‘ﬁ O_Ei':"'—log_‘. 25= )
AO0B.1C3D4

2. IRFER

gy ()= +3a>0 a2 l) pyme gt g mp, PR (O
A (14) 5 (0.4) ~(03) (13

3. B
F %S (0 = Inx—1 gy EGE KRR ()

4. IR P
¥=|3s1n IIE:( + ::
B3 L 3Jm%mmﬁ%ﬁ<>

A

A2 B.7C27T D3

5. kBB

R4
@ﬁﬂﬂEWM“WWEEML?JLmﬁwﬁ%a,wm%mﬁ%<>
3
A.1 B2C<2P.3

6. 1 FE AR

| 7 .-'."\'

Ehamsgy=tmorgl 22 g Rmms, e mEmER O

Aw<-1B w<-1C,-l1£2@<0D -l<w<0

7. HE -
g/ ()=o) (o0, ooty 450, 0>0) mEsERmAE, W70 WER

A
T \
r I
v N e
J," i '\III..‘ [ g
| i 1 12 f
') Iy - In' }
o Xt 7
O
ik ff
] Sm— L8
JZ




